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® 41 BHESBAT—2OHRMAETHPRE L WEERHEER?
o B M N o WIER2 | RMSE
No. = ffE £ A5 i At P (m) ST P (A< /ha) ERRHEER 2 sy iy
I | A% 30 | 10-15m~30m LA 500 AJiti~1500 LA |- d = 2.536 x C,°3°* x h0511 0.921 2.00
! @ S 30 | 10-15m~15~20m 500-750~1500 LA d = 3.936 x C,°137 x h0-520 0.768 1.51
Sliy
, T&{E A 65 | 15m Ajiii~30m 2L E | 500 #Kiifi~1500 LA | d = 2.501 x C,°?78 x h0251 0.903 3.94
7 B /% 21 | 15m Kiii~15-20m 500-1000~1500 LA d = 2.464 x C,°?'3 x h066* 0.587 2.32
A ¥ 20 | 20-25m~25-30m 500-1000~1500-2000 d = 12.831 x C,*3¢° 0.654 2.14
’ = 10 | 10-15m~20-25m 500-1000~1500-2000 d =9.788 x C,°*** 0.669 2.06
A 15 | 15m AKjii~26m LI E | 200 Af#i~1200 2L E d = 4.296 x C,°3?% x h0-366 0.855 1.46
! B /% 15 | 15m AKJiii~21-25m 200 Aii~1200 24 E d = 2.199 x C,°?¢7 x h0642 0.855 1.45
A 30 | 15m #Kiifi~25m LA | 700 Aii~1600 LL k- d = 2.767 x C,°53* x h0-336 0.970 1.99
° S 30 | 15-20m~25m LA | 700 Aifi~1600 LA I d = 2.347 x C,°3%* x p0508 0.961 1.72
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it B 7 e o o #IER2 | RMSE
No. = fot e £ fot = e (m) N FE P (A /ha) EARHEEZ 2 sy iy
A ¥ 30 | 15-20m~30-35m 500 AJiti~1250 LA |- d = 3.981 x (%39 x 0338 0.746 2.98
6
= 30 | 15m At ~20-25m 500 AJiti~1250 LA |- d = 2.659 X C,*310 x p0545 0.896 2.12
A ¥ 7 | 20-25m~30-35m 500-999~1500-2000 d = 2.244 x C,°17° x h0688 0.845 3.25
7
v/ ¥ 7 | 10-15m~25-30m 500 AT ~2000 LA E d = 3.483 x (%333 x p0411 0.880 2.40
s N N N 0.5864 h
Z 40 | 15m Aiii~25m LA E | 500 #iti~2000-2500 d= — —
3.6395
8
N N 0.6721 h
b /¥ 46 | 15m Aiii~256m 2L E | 500-1000~2000-2500 d= ORI — —
. . . . 0.6981 h
% 30 | 15m Afifi~25m LA £ | 500-1000~2500 LA |- d= 3581 0.67 —
o )
3 N N 0.5665 h
b /¥ 31 | 15m Ajifi~25m LA £ | 500-1000~2500 LA |- d= 0.47 -
2.9487
N N N N N 0.6981 h
¥ 30 | 15m AKjifi~25m LA | 500 A ~2500 LA _E d= 5581 0.67 —
10 '
N N N 0.5665 h
B /% 30 | 15m #jifi~25m LA E | 500-1000~2500 LA d= 0.47 —
2.9487
R N N 1.0729 h
% 32 | 15m #Kiifi~25m LL | 500-1000~2000-2500 d= 0.96 -
0.6317
11
. . . 0.9856 h
b /¥ 32 | 15m Aj#i~25m LL k| 500-1000~2500 LA |- d= 0.92 -
0.8942
13 A 32 | 15m Kiifi~25m LA L | 500 Aiii~1500 LA d = 2.523 x C,%**° x h0528 x Ch=0127 | 0.954 2.24

65




o B M N , WIER2 | RMSE
No. = B £ Rt v i (m) SRS FE P (A /ha) ERRHEER 2 sy iy
Bl e/ X 30 | 15m Kiifi~25m LA E | 500 AKiii~1500 LA E d = 5.706 x C,°3*0 x 0242 0.806 1.86
A X 32 | 15-20m~25m LA 500 Aiffi~1000-1500 d = 3.687 x C,°3?! x h04?5 0.833 2.27
1 ol e ¥ 32 | 15m Aifi~20-25m 500-1000~1500 LA d = 3.324 x (%81 x p041 0.866 1.87
7| 2% 30 | 0-15m~25m UL I 0-500~1000 LA I d = 2.436 x C,0**0 x p0444 0.936 2.68
o v/ ¥ 30 | 0-15m~25m UL I 0-500~1000 LA I d = 2.137 x %% x 0606 0.907 2.28
AF 20 | 16-18m~28-30m 600-800~1400-1600 d = 4.037 x Ca®36° x h0368 0.821 1.98
1o B /¥ 20 | 15m A~ 18-20m 800-1000~2200 LA | d = 2.866 x Ca®3*7 x h049% 0.878 1.48
A X 20 | 12m AKJii~26-28m 600 it ~2200-2400 d = 3.245 x Ca®362 x p0454 0.935 2.04
1 B /¥ 20 | 12m AJii~20-22m 600-800~2800-3000 d = 2.857 x Ca®3% x h*8° 0.747 2.01
¥ 20 | 12-14m~30m LI 600 it ~2400-2600 d = 2.309 x Ca®?86 x p0620 0.913 2.26
18 S 20 | 10m AJiii~22-24m 600-800~2600 LL I d = 1.634 x Ca®3%0 x h0734 0.840 2.15
X 30 | 15-20m~30-35m 500 LL T ~1500 LA | d = 2.885 x Ca®??2 x h0582 0.854 2.36
9 b /¥ 30 | 15m LA F~20-25m 500 LL T ~1500 LA | d = 3.534 x Ca®178 x h0547 0.715 2.17
X 31 | 10m AKjifi~256m LA | 500 Aii~1500 LL k- d =3.122 x ,%3*° x 044 0.894 2.86
20 E /% 30 | 10m AKjifi~25m LI E | 500 Aii~1500 LA E d = 3.186 x C,%188 x h0-544 0.866 1.65
A 45 | 10-15m~30m LA I 500 #Jifi~1500 LA |- d = 4.637 x C,°3%° x h°-377 0.870 2.37
2 b /¥ 42 | 10m HJiii~20-25m 500-750~1500 LA d = 1.992 x Ca®?"t x h°57 0.889 2.00
¥ 5 | 15-20m~30-35m 250-500~2000-2250 d = 1.725 x V0158 x 0739 0.879 2.54
22 b/ ¥ 5 | 5-10m~20-25m 500-750~2250-2500 d=0.167 x C, %33 x h1430 x ChO5%3 | 0.885 1.77
23 A 87 | 10m AKji#i~25m LA | 500 Aii~1500 LA E d = 1.802 x €,%%%° x h077 x ChO105 | 0.797 3.17
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o B M N , WIER2 | RMSE
No. = B £ A5 i At P (m) ST P (A< /ha) ERRHEER 2 sy iy
S 77 | 10m #Jifi~26m LA | 500 AKiti~1500 LA - d = 2.390 x C,°3°0 x h0-564 0.812 2.02
A 87 | 10m AKiifi~25m LA | 500 Aiii~1500 LA E d = 1.802 x €,%%%° x h077 x ChO1%5 | 0.797 3.17
2 S 77 | 10m #Jifi~26m LA | 500 AKiti~1500 LA - d = 2.390 x C,°3°0 x h0-564 0.812 2.02
A X 16 | 10-15m~25m LA I 500 Ajiti ~1500-2000 d = 2.866 x C,°*?° x p0435 0.921 1.80
2 B /% 15 | 10m A ~20-25m 500 Aiti~2000 LA |- d = 2.981 x C,°33% x h0477 0.968 1.39
HX 535 dl =8.0113¢25742
A ¥ 139 | 10m Ajifi~25m LI | 500 i ~2000 LA Xy d2 = 7.8273C0544 0.822 2.16
B{[X /4y  d3 = 7.6567C25%°
20 X5y dl = 6.5397¢2537
g | B/ * 132 | 10m Aifi~25m £l I | 500 Aii~2000 LA - K5y d2 = 6.4423C0**% 0.8006 | 2.00
ig BiIX4y  d3 = 5.348506353
NI 36 | 10m Aifi~20-25m 1000 i ~2000 LA d = 1.886 x €,°%%% x k0658 x Ch*07 | 0.925 1.54
2 B /% 34 | 10m #Kiifi~25m LL | 1000 A ~2000 Lk d = 3.469 x %3 x h0477 0.514 1.94
A ¥ 25 | 10-15m~20-25m 1000 Aifi ~2000 LA k- d = 1.886 x ,°2%% x h%658 x Ch%%%7 | 0.925 1.54
28 S 44 | 10-15m~20-25m 1000 Aifi ~2000 LA k- d = 3.458 x C,°3%! x h0478 0.655 1.88
X 3 | 10-15m~20-25m Lk |- | 1000 #iifi~1000-1500 | d = 1.886 x ;2% x h®658 x Ch0097 | 0.925 1.54
29 b /¥ 3 | 156m AKifi~15-20m 1000 A ~1500 LA d = 3.469 x C,°3" x h0477 0.514 1.94
30 AF 25 | 15-20m~25-30m 500-1000~2500 LA _t d = 3.636 x A%248 x p0411 0.639 1.91

5 FAXIEREELEICI U CE~BRICXy L7 ECHEER ZH TIO 2 FIEICEVHEE L TWD  (F  fHxeiELE 145 LLF (AF) - 16.3 LA'F
(B/%), Bi: 178 (AX), 18.7H (B /F), F: ZNENB~E DIH])
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b B 178 o o . #IER? | RMSE
No.| .. | ##& . it 5 P (m) SEAHE BT (A /ha) ERHEER . .
3 AR & &
d = 3.165 x A%335 x p0380 0.713 2.56
d = 2.680 x A%240 x p0538 0.672 1.54
=S 25 | 10-15m~20-25m 500-1000~2000-2500
d = 2.957 x Ca®*30 x p0407 0.791 1.23
AF 73 | 15-20m~30-35m 500 A ~2500 L1 I d =3.168 x C,°?% x h*3% x ¢,*™% | 0.723 2.25
31
B/ % 75 | 10-15m~20-25m 500 A ~2000-2500 d = 3.682 x Ca®3% x p0-381 0.792 1.80
A ¥ 40 | 5-10m~30-35m 500 Aiti~3000 LA L d = 2.309 x Ca®*?7 x hO477 0.943 2.39
32
B/ % 42 | 5-10m~25-30m 500 A ~2500-2999 d = 2.626 x Ca®3%3 x p0481 0.916 1.98
A ¥ 32 | 156m LLF~30-40m 500 LA~ ~1500-2000 d = 1.810 x Ca®381 x p0625 0.961 2.31
33
B/ % 32 | 15m LA F~20-25m 500-1000~1500-2000 d = 3.015 x Ca®*4%* x p0407 0.802 1.87
A ¥ 32 | 156m LLF~30-40m 500 LA~ ~1500-2000 d = 1.810 x Ca®381 x p0625 0.961 2.31
34
=S 32 | 15m LA F~20-25m 500-1000~1500-2000 d = 3.015 x Ca®*%* x p0407 0.802 1.87
. A X 39 | 5-10m~30-35m 500 i ~2000-2499 d = 2.644 x Ca®35 x p0-542 0.945 2.66
=S 41 | 5-10m~20-25m 500-999~2000-2499 d = 3.463 x Ca®5% x p0-285 0.824 1.73
X 20 | 15m Aii~25m LA L | 500 Aii~1500 LAk d = 1.828 x Ca®*%* x h0557 0.942 2.11
36
=S 20 | 15m AJi~25m LA L | 500 AKjifi~1500 2k d = 2.887 x Ca®3%7 x p0403 0.872 1.62
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